7IWRINIID IR

ABD wSwn» 1m
B DO
Bayna e wBC

hex (N
LRI
BED -y ABD

2°m17

3 (2
BD=15cm
D AB=20 cm
e
ED=?



11N
WRINAT DR IN0-

T2 Yy BED
. E ay B nmypam

Y NI WEm-
. QWINAT SIa



=1 ADB novss-
RS NENIYR
2R SYRAT



7350 ABD novrs-
(7I02) 7S Ny




=39 AEB non-
nOT) 7S DO
NIYRIT NIDPYT
(BCawpn by




7397 BED novse-
FTINR) WS DY
(AEB noh




A -RI-RE-X.

AT NN IRN
QWD NI 02

<BDE=<ADB
<BED=<ABD
=-=>

. ABED-AABD



1 (2
BD=15cm
AB=20cm

il

ED=?



¥20

: DE=X3ne:

N7 NN YN
NIRRT Y

NIy
7913798912990
TARNTR



¥20

ADnR awms
DTN Yy
ABD:wwmnaa

152+20°=AD?
225+400= AD?
625= AD?
AD=25



Wi

A

—

13197757 O7Y NS

BD _DE
AD BD
15_ X
25 15
152=25X

225=25X
X=9cm



-RE-RE-F,

D ¢ ED B



